SHEEFE

EE®ERUVY

Yy 7 FP2ERY DO LEREERR-ER (R I H# i)
® & & A B FRINFFRK it 1 5KiRE it 2 5 KR MERKIER STILF KIS 'K
HKERB R6.4.10 R6.4.10 R6.4.10 R6.4.10 R6.4.10
Xz - i i i i B%
SR °c 19.8 18.8 18.8 15.7 17.4
KB °c 9.7 13.3 13.5 13.4 12.4
PN T MPN/100mL 61 1 <1 <1 <1
RRIEFRE {&/100mL 10 0 0 0 0
)T RRKRY S L — — — — — b Jaskcar
CSTLEST - — - - - meed
pH - 6.6 6.6 6.6 6.4 6.5
BE =4 4.7 <0.5 0.8 0.5 0.5
AE |4 8.1 <0.1 <0.1 <0.1 <0.1
®KkERR R6.5.9 R6.5.9 R6.5.9 R6.5.9 R6.5.9
B - & & & & i
R °c 17.2 16.8 16.8 16.0 17.8
KR °c 12.7 17.7 17.9 15.7 16.0
KiGE MPN/100mL 67 <1 <1 <1 <1
RRMEFRE {&/100mL 5 0 0 0 0
HyFRREKY DL {E/10L — - - - BHEd
CTILTST &@/10L - - - - mReed
pH - 7.1 6.8 6.7 6.4 6.6
B =4 4.5 0.5 0.6 0.5 0.9
AE |4 2.6 <0.1 <0.1 <0.1 0.4
®KkERR R6.6.6 R6.6.6 R6. 6.6 R6. 6.6 R6. 6.6
ESE - <3 £ £ E E
R °c 25.3 24.8 24.8 25.8 25.7
KR °c 18.7 20.8 20.9 18.5 17.8
KigE MPN/100mL 20 <1 <1 <1 <1
2 SREE i) {&/100mL 10 0 0 0 0
HUFRREKY DL {E/10L — - - - BHEd
CTILST &@/10L - - - - f- ke
pH - 7.0 6.7 6.6 6.4 6.5
B B 3.2 0.5 0.5 0.5 0.8
AE |4 2.3 <0.1 <0.1 <0.1 0.3
®KkERR R6.7.29 R6.7.2 R6.7.2 R6.7.2 R6.7.2
B - & 5] 5] 5] 5]
R °c 33.1 24.8 24.8 25.1 25.4
KR °c 25.6 24.4 24.4 20.5 21.4
KigE MPN/100mL 20 <1 1 <1 1
2 SREE i) {&/100mL 5 0 0 0 0
HUFRREKY DL {E/10L — - - - BHEd
CSTILST f@/10L - - - - BREed
pH - 7.3 6.6 6.6 6.4 6.5
B 54 2.8 0.7 0.9 0.9 0.9
AE E 1.3 <0.1 <0.1 0.3 0.2
FKERRB R6.8.8 R6.8.8 R6.8.8 R6.8.8 R6.8.8
Xz - & & & & i
SR °c 30.8 32.1 32.1 32.9 27.9
KR °c 25.1 29.7 29.4 23.6 24.7
PN T MPN/100mL 12 <1 1 <1 <1
2 SR e i) {&/100mL 5 0 0 0 0
HUFTRREKY DL {E/10L - - - - BHEd
CSTILST f@/10L - - - - BREed
pH - 7.1 6.7 6.6 6.4 6.5
B 54 2.7 0.5 0.6 0.5 0.5
AE E 1.2 <0.1 <0.1 <0.1 <0.1
#KERB R6.9.5 R6.9.5 R6.9.5 R6.9.5 R6.9.5
Xz - & & & & i
SR °c 33.6 31.3 31.3 32.3 31.2
KR °c 25.0 29.0 28.8 24.9 25.0
PN T MPN/100mL 28 <1 <1 <1 <1
2 SR e i) {&/100mL 0 0 0 0 0
HUFTRRRY DL fE/10L - - - - BHEd
STLTT f@/10L - - - - BHEd
pH - 7.2 6.6 6.6 6.3 6.5
B 54 2.3 0.5 0.6 0.5 0.7
B B 1.1 <0.1 <0.1 <0.1 <0.1




«fie

Y

EE®ERUVY

Yy I P RARY OO LERERBRR-_ER (B I HE)
B & B B Hof FRINFKFRK i1 SKiE it 2 5KiE MERKIR STIBKE RK
HKERB R6.10.2 R6.10.2 R6.10.2 R6.10.2 R6.10.2
B - E g g g g
KR °c 27.1 24.4 24.4 26.3 24.8
KR °c 24.6 28.9 28.9 25.5 26.9
KiEE MPN/100mL 29 <1 <1 <1 <1
RRIEFRE {&/100mL 5 0 0 0 0
gy FRRRYSHL| E/100 - - — — BHEd
CSTILCT {&/10L - — — — BEEd
pH - 1.2 6.6 6.6 6.4 6.5
BE =4 2.0 <0.5 0.9 0.6 <0.5
AE |4 0.9 <0.1 0.4 0.2 <0.1
HKERR R6.11.7 R6.11.7 R6.11.7 R6.11.7 R6.11.7
ESE - <3 £ £ E E
R °c 15.1 15.3 15.5 15.9 15.8
KR °c 14.4 19.5 19.6 18.9 18.6
NI MPN/100mL 365 <1 1 5 <1
RRMEFRE {&/100mL 0 0 0 0 0
HyFRREKY DL {E/10L - - - - BHEd
CTILTST f&/10L - - - - mReed
pH - 6.9 6.6 6.6 6.3 6.5
BE |4 7.1 0.5 0.6 0.5 0.5
AE =3 12 <0.1 <0.1 <0.1 <0.1
HKERR R6.12.5 R6.12.5 R6.12.5 R6.12.5 R6.12.5
ESE - <3 £ £ E E
R °c 15.2 14.7 14.7 11.3 13.7
KR °c 10.1 14.1 14.1 15.4 14.4
KigE MPN/100mL 47 <1 <1 <1 <1
2 SREE i) {&/100mL 5 0 0 0 0
HUFRREKY DL {E/10L - - - - BHEd
CTILST f8/10L - - - - f- ke
pH - 7.0 6.7 6.6 6.3 6.5
BE -4 2.4 0.5 0.5 0.5 0.5
AE = 1.3 <0.1 <0.1 0.1 <0.1
RKERB
XiE -
R °c
KR °Cc
KiGE MPN/100mL
2 SREE i) {&/100mL
sYFrRRYSHL| E/10L
STLTT f@/10L
p H -
BE : 3
EE &
BKERAH
K& -
SR °c
KR °c
KiGHE MPN/100mL
HSSFRE | f8/100m0
SyYFrRRYSHL| E/10L
STILTT f@/10L
p H -
BE : 3
EE &
#KERAH
K& -
SR °c
KR °c
PN MPN/100mL
HSSFRE | f8/100mL
syYFrRRYSHL| E/10L
CSTILTT 1&/10L
pH -
B ;3
EE ;3




SHEEFE EEBHA XTI YU T PR Y DO LE BRBREER - E¥E R (R IU# 8 )
w & B® B B HEEKIR F KR b E KR RIBKIR BRIaIKIR R KR SATAIKIR
BKEAR - - - R6.4.1 — — -
ES = - = - g - - -
[l °c - - - 13 - - —
KR °c - - - 12 - - —
iﬁ%% MPN/]OOmL — — — <1 _ _ _
BRSMEFRE | E/100mL - - - 0 - - —
yyTRRRY YL {E/10L - — - - — — —
STILST {&/10L — - - — - — —
pH — - — — 6.6 — — -
BE |3 - = - 0.5 - - -
EE =3 — — — 0.1 — — -
BKEAR R6.5.7 R6.5.7 R6.5.7 R6.5.7 - - -
X - & a % & - - -
K[l °c 20 20 20 20 - - —
KR °c 21 14 17 13 - = —
KA MPN/100mL <1 <1 <1 1 - - —
BSMSFRE | E/100mL 0 0 0 0 - - —
SyFrREKYSHL| {E/10L - - — 0 - - -
CSTILDT {&/10L - — — 0 - - -
pH - 8.7 7.0 7.0 6.5 - - -
BE E 0.5 0.5 5.2 0.5 - - -
EE =3 0.1 <0.1 0.2 <0.1 — — —
BKEARR - - - R6.6.3 R6.6.10 R6.6.10 R6.6.10
B - - - - 5l i & &
K[l °c - - - 18 22 22 22
KR °c - - - 15 17 15 14
K& MPN/100mL — - - <1 2 <1 <1
BSMESFRE | E/100mL — - - 0 0 0 0
sy FrRAEY oLl {E/100 — - - — - — -
CSTILDT {&/10L — — - — — — —
pH - - - - 6.7 6.6 6.7 6.6
BE E — = - 0.5 <0.5 1.9 <0.5
AR B — — — <0.1 <0.1 <0.1 0.1
BKERB — = - R6.7.1 - - -
S - — - - [55] - - —
KR °c - - - 24 - - —
K °c - - - 15 - - —
K& MPN/100mL — — _ 4 — — —
BSMESFRE | E/100mL — - - 0 - - —
yYTrRRYCHL| {E/10L — = — — — = —
ST | @/10L - — — — — — —
pH - — - - 6.6 - - -
BE E — - - 0.5 - - -
EE = — — — <0.1 — — —
BKERB R6.8.6 R6.8. 6 R6.8.6 R6.8. 6 - - -
X - 0 3 % & - - -
KR °c 30 31 31 30 - - —
Kig °c 17 15 19 15 - - —
KiGHE MPN/100mL <1 <1 <1 <1 - - —
BEIESFRE | E/100mL 0 0 0 0 - = —
gy T rRAY YL {E/10L - . — 0 - - -
CSTLDT {&/10L = - — 0 - - -
pH - 8.2 7.1 1.2 6.7 - - -
BE E 0.5 0.5 5.7 <0.5 - - -
EE = 0.1 <0.1 0.7 0.1 — — —
BKERB - - - R6.9.2 R6.9.9 R6.9.9 R6.9.9
Kz - - - - 5 & 5 5
KR °c — - - 29 28 21 27
Kig °c — - - 15 21 14 20
NI MPN/100mL - - - <1 1 <1 <1
BRSIESFRE | E/100mL - - - 0 0 0 0
sy FrrKEYSHul {E#/10L — — - — — — —
CSTILTDT {&/10L — — - — — — —
pH - — - - 6.6 6.5 7.0 6.5
BE B - - - 0.5 <0.5 6.3 <0.5
EE B — — — <0.1 <0.1 0.1 0.1




M6 EE EEBHA XTI YU T PR Y DO LE BRBREER - E¥E R (R IU# 8 )
w & B® B B HEEKIR F KR b E KR RIBKIR BRIaIKIR #H R KR SATAIKIR
BKEAR - - . R6.10.7 — — -

ES = — - - 551 - - —
[l °c - - - 21 - - —
KR °c - - - 15 - - —
NI MPN/100mL - - - 4 - - -
REIESFRE | E/100mL — - - 0 - - —
syYFrREYSHL| {E/10L — - - - - - —
CSTILTCT {&/10L — - - — — — -
pH — - — — 6.5 — — -
BE |3 - = - 0.5 — — -
EE =3 — — - 0.1 - — —
BKEAR R6.11.5 R6.11.5 R6.11.5 R6.11.5 - - -
x1& - E ) g g - - -
K[l °c 15 15 15 15 - - —
K °c 15 14 15 13 - = —
KA MPN/100mL <1 <1 <1 <1 - - —
BSMSFRE | E/100mL 0 0 0 0 - - —
syYFrREYSHL| {E/10L — — — 0 - - -
CSTILDT {&/10L - — — 0 - - —
pH - 8.1 7.1 7.1 6.6 - - -
BE E 0.5 0.5 2.4 0.5 - - -
EE =3 0.1 0.1 0.6 <0.1 — — —
BKEARR - - - R6.12.2 R6.12.9 R6.12.9 R6.12.9
XiE - - - - & 551 [55] 58]
K[l °c - - - 9 1 6 6
K °c - - - 12 15 13 13
K& MPN/100mL — - - <1 4 <1 <1
BSMESFRE | E/100mL — - - 0 0 0 0
gy T rRAY YL {E/10L - - - — — — -
CSTILTCT {&/10L — - - — — — —
pH - - - - 6.6 6.6 6.9 6.4
BE E — = - <0.5 <0.5 2.9 <0.5
AR B — — — <0.1 <0.1 0.3 0.1
BKERB
S -
KR °Cc
Kik °c
K& MPN/100mL
BSMESFRE | E/100mL
gy T rRAY YL {E/10L
CSTILTCT {&/10L
pH -
BE E
EE =
BKERB
K& -
KR °Cc
Kig °Cc
NI MPN/100mL
BEIESFRE | E/100mL
sy FrrKEYSHual {E/10L
CSTILCT {&/10L
pH -
BE E
EE =
BKERB
K& -
KR °Cc
Kig °Cc
KiE MPN/100mL
BRSIESFRE | E/100mL
sy FrrKEYSHul {E#/10L
CSTILCT {&/10L
pH -
BE B
EE B




(R I # 4 )

SM6ERE EEH XTI YU T PR Y DO LEBRERRER - ¥R
% & B B| B # EKiR B ERKIR BAKIR #WE KR W RKR EEKIR
HKEAR - R6.4.8 . R6.4.15 R6.4.15 R6.4.15
Kig - - = - & g ]
KR °c - 14 - 19 19 19
KR °c - 16 - 14 17 13
KEHE MPN,/100mL - <1 - <1 <1 <1
BSMESFRE | E/100mL - 0 — 0 0 0
syYFrREYSHL| {E/10L — — - — - -
CSTILTCT {&/10L — — - — - —
pH — - 6.7 - 7.3 8.0 7.1
BE B - 28 - 0.5 0.5 0.5
AE |3 — 5.8 — 0.1 <0. 1 <0. 1
FKERB - R6.5.13 - - - R6. 5. 20
K& - - g - - - 5
R °c - 14 - - - 20
KR °c - 14 - - - 13
KiE MPN/100mL — <1 - — - <1
BSMSFRE | E/100mL - 0 - — - 0
syYFrREYSHL| {E/10L — — - - - -
CSTILTT {&/10L — — - - - —
p H - — 6.7 - - - 6.7
BE B - 23 - - - 0.5
AE |3 — 2.8 — — — <0. 1
FKERB R6. 6. 10 R6.6. 10 R6.6.17 - - R6. 6. 24
K& - & & 5 - - g
R °c 22 22 23 - - 27
KR °c 20 16 19 - - 14
RiG&E MPN/100mL < A <1 - - <1
BSMESFRE | E/100mL 0 0 0 - - 0
yyFrRAYSHL E/10L — 0 — — - 0
CSTLET {&/10L — 0 — - - 0
pH - 6.6 6.6 1.1 - - 6.6
BE i3 1.8 1.3 <0.5 - - 0.5
AE |4 0.4 <0. 1 <0.1 — — <0. 1
HKEAR R6.7.8 - R6.7.22 R6.7.22 R6.7.22
Kz — - & - & 5 5
R °c - 29 - 30 32 32
KiE °c - 16 - 16 18 18
K& MPN/100mL - <1 - <1 <1 <1
BSMESFRE | E/100mL - 0 - 0 0 0
gy T rRAY YL {E/10L - — - — - -
CSTILTCT {&/10L — — - — — —
pH - — 6.8 - 7.3 8.1 6.9
BE i3 - 20 - 0.5 <0.5 0.5
AE |3 — 2.2 — <0. 1 0.1 <0. 1
#KEAR - R6.8.19 - - - R6. 8. 26
Kz - - g - - - &
R °c - 27 - - - 29
KiE °c - 17 - - - 16
KiE MPN/100mL - <1 - - - <1
SMESFRE | E/100mL - 0 - - - 0
sy FrrKEYSHual {E/10L — — - — - —
CSTILCT {&/10L — — - — - —
pH - — 6.8 - - - 6.6
BE i3 - 16 - - - 0.5
AE |3 — 1.4 — — — <0. 1
HKEAR R6.9.9 R6.9.9 R6.9.18 - - R6.9.17
Kz - 5 & 5 - - &
iR °c 27 29 28 - - 29
KB °c 26 18 17 - - 14
NI MPN/100mL <1 A <1 - - <1
ERUMESFRE | {E/100mL 0 0 0 - - 0
syFTrREKY DLl {E/10L - 0 - - - 0
CSTILCT {&/10L 0 — — - 0
pH — 6.6 6.8 7.9 — - 6.6
aE E 1.3 19 <0.5 - - 0.5
EE B 0.2 4.5 <0.1 - — <0.1




(R I # 4 )

M6 EE EEH XTI YU T PR Y DO LEBRERRER - ¥R
w & B® B B EKiR B ERKIR BAKIR #WE KR W RKR EEKIR
BKERB — R6.10.10 — R6. 10. 22 R6.10. 22 R6. 10. 22
Kz — - i - =/ £/ £/
SR °c - 18 - 18 19 18
KR °c - 16 - 14 18 14
NI MPN/100mL - <1 - <1 <1 <1
REIESFRE | E/100mL — 0 - 0 0 0
syYFrREYSHL| {E/10L - — - — - -
CSTILTCT {&/10L — — - — - —
pH — — 6.8 — 1.3 8.2 6.8
BE B — 10 - 0.5 <0.5 0.5
EE =3 — 0.6 — <0.1 <0. 1 <0. 1
RKERB — R6.11. 11 - - - R6.11.18
Kig - - & - - - 5]
SR °c — 15 - - - 12
KB °c — 15 - - - 14
NI MPN/100mL — <1 - - - <1
BSMSFRE | E/100mL — 0 - - - 0
syYFrREYSHL| {E/10L — — - - - -
CSTILTT {&/10L — — - - - —
pH — — 6.8 - - - 6.7
BE E — 17 - - - <0.5
EE =3 — 1.4 - - - <0. 1
RKERB R6.12.9 R6.12.9 R6.12. 11 - - R6.12. 23
Kig - [55] [55] 5 - - iS5
SR °c 6 6 5 - - 5
KiE °c 12 14 13 - - 1
PNl MPN/100mL <1 <1 <1 - - <1
BSMESFRE | E/100mL 0 0 0 - - 0
yyFrRAYSHL E/10L — 0 — — - 0
STILDT {&/10L — 0 — - - 0
pH - 5.9 6.7 7.8 - - 6.7
BE B 0.5 3.7 0.5 - - 0.5
AR E 0. 1 0.2 <0.1 - - <0. 1
BKERB
S —
KR °Cc
Kik °c
K& MPN/100mL
BSMESFRE | E/100mL
gy T rRAY YL {E/10L
CSTILTCT {&/10L
pH -
BE E
EE =
BKERB
K& -
KR °Cc
Kig °Cc
NI MPN/100mL
BEIESFRE | E/100mL
sy FrrKEYSHual {E/10L
CSTILCT {&/10L
pH -
BE E
EE =
BKERB
K& -
KR °Cc
Kig °Cc
KIE MPN/100mL
BRSIESFRE | E/100mL
sy FrrKEYSHul {E#/10L
CSTILCT {&/10L
pH -
BE B
EE B




*f6FE EE® RV Y T FRKRY SO LAERERE-ER (B F # 5)

woEomoE | owow | A o WAKE | KEKE | WEKR | MEAKE | DMK | KR
HKERAR R6.4.11 - R6.4.10 R6.4.10 R6.4.10 - - R6.4.11
Xi& - i - i i i - - i
KR °c 17 - 1 10 10 - - 18
KR °c 14 - 12 11 13 = - 12
K& MPN/100mL <1 - <1 - <1 - - <1
msitFmE @10 0 - 0 - 0 - - 0
sy T rRRYSHL {E/10L - - 0 0 - - - 0
CTLTT {&/10L - - 0 0 — = - 0
pH - 6.9 - 8.3 1.2 8.2 - - 7.0
BE E3 <0.5 - 1.0 <1 1.0 = - <0.5
EE |3 <0.1 — 0.9 <0.5 0.5 — — <0. 1
HKERH R6.5.15 R6.5.15 R6.5.9 R6.5.9 R6.5.15 R6.5.9 R6.5.15 R6.5.15
% - 4 4 4 4 4 4 i 4
KR °c 19 19 1 12 20 13 19 19
KiE °c 16 19 13 11 14 15 16 16
KB&E MPN/100mL <1 <1 <1 <1 <1 <1 <1 <1
mnitFmE @10 0 0 0 0 0 0 0 0
sy T rRKY UL E/10L 0 - - - 0 - - -
CTNTT {&/10L 0 - - - 0 - - -
pH = 1.2 1.5 8.0 1.6 7.8 8.3 8.1 7.8
BE |3 <0.5 <0.5 1.0 <0.5 0.8 <0.5 <0.5 <0.5
A =3 <0.1 0.2 1.0 <0.1 0.1 <0.1 <0.1 <0. 1
HKEAH R6.6.20 - R6.6.13 = R6.6.13 = = R6. 6. 20
% = ) - " - " - - )
KE °c 25 - 26 - 26 = = 25
KR °c 24 - 17 - 14 - - 19
K& MPN/100mL <1 - <1 - <1 - - <1
BEMEFRE | E/100mL 0 - 0 - 0 - - 0

SUFrREKYSHAl {E/10L - - — - — - - -

STLST | @/ - - Z Z = - = —

pH - 7.2 - 8.2 - 8.2 - - 7.5
BE 53 0.5 - 1.0 - 1.0 - — <0.5
il |3 0.1 - 0.9 - 0.6 — — <0. 1
BKEAR R6.7.11 — R6.7.17 — R6.7.17 — - R6.7.11
Kz = il - & = A = = M
KR °c 23 - 27 - 28 - — 23
Kig °Cc 25 - 18 - 16 - - 20
K& MPN/100mL <1 - <1 - <1 - — <1
BRRIESFRE | E/100mL 0 - 0 - 0 - - 0
g T RREY YL {E/10L - - 0 - - - — 0
CSTILTCT {&@/10L - - 0 - - - - 0
pH - 6.9 - 8.3 - 8.0 - — 7.3
BE B <0.5 - 1.2 - 1.0 — - 0.8
EE 4 <0.1 — 0.9 — 0.4 - - 0.1
HKEARR R6. 8. 27 R6. 8. 27 R6.8.5 R6.8.5 R6. 8. 27 R6. 8. 27 R6. 8. 27 R6. 8. 27
S - i i [ i & i i i
KR °c 33 33 29 29 33 31 33 30
KR °c 17 17 16 14 17 18 18 21
PN L] MPN/100mL <1 <1 <1 <1 <1 <1 <1 1
ERESFRE | {E/100mL 0 0 0 0 0 0 0 0
syFrRKYTHL| {E/10L 0 - - - 0 - - -
CSTILCT {&/10L 0 - - - 0 - - -
pH — 1.2 1.6 8.3 7.0 1.8 8.3 8.1 7.6
BE = <0.5 <0.5 0.5 0.5 0.9 0.5 0.7 0.5
AE B <0.1 <0.1 0.4 <0.1 0.2 <0.1 <0.1 <0.1
BKEAR R6.9.12 - R6.9.5 - R6.9.5 - — R6.9.12
ES = & - A - A = = &
SR °c 29 - 30 - 29 - — 29
Kig °c 18 - 16 - 18 — - 21
NI MPN/100mL <1 - <1 - <1 - — 5
REIESFRE | E/100mL 0 - 0 - 0 - - 0

oy FrREY S| {E/10L - — — - — — — —

CTLTT {&/10L — - — — _ _ _ —

pH - 7.1 - 8.3 - 1.1 - - 1.5
BE |3 <0.5 - <0.5 - 2.5 = - <0.5
A =3 <0.1 — 0.4 — 1.3 — — <0.1




*f6FE EE® RV Y T FRKRY SO LAERERE-ER (B F # 5)

woEomoE | owow | A o WAKE | KEKE | WEKR | MEAKE | DMK | KR
HKERAR R6.10.16 - R6.10.2 R6.10.2 R6.10.2 - - R6.10. 16
= - £ - ) £ ) - = ]
KR °c 21 - 20 21 20 - - 21
KR °c 15 - 15 14 15 = = 17
K& MPN/100mL <1 - <1 - <1 - - 2
WsitFEE | B)/100n 0 - 0 - 0 - - 0
sy T rRRYSHL {E/10L - - 0 0 - - - 0
CTLTT {&/10L - - 0 0 — = - 0
pH - 7.1 - 8.4 7.1 8.3 - - 1.4
BE £ 0.5 - <1 <t 0.9 - - <
EE |3 <0.1 — <0.5 <0.5 0.2 — — <0.5
HKERH R6.11.21 R6.11. 21 R6.11.7 R6.11.7 R6.11.7 R6.11.7 R6.11. 21 R6.11. 21
% - 0 4 2 2 4 £ i i
KR °c 10 10 1 12 1 9 10 10
KiE °c 14 12 14 13 14 15 14 13
KB&E MPN/100mL <1 <1 <1 2 <1 <1 <1
WEtFEE | B)/100n 0 0 0 0 0 0 0 0
sy T rRKY UL E/10L 0(11.12) - - - 0(11.12) - - -
CTNTT {&/10L 0(11.12) - - - 0(11.12) - - -
pH = 7.1 7.3 8.3 1.2 7.9 8.3 7.8 1.1
BE |3 <0.5 <0.5 0.8 <0.5 1.5 <0.5 0.7 <0.5
A =3 <0.1 <0.1 0.7 <0.1 0.6 <0.1 <0.1 <0. 1
HKEAH R6.12.12 - R6.12.5 = R6.12.5 = = R6.12.12
i = ™ - " - " - - ®
KE °c 5 - 6 - 6 = = 5
KiE °c 13 - 12 - 14 - - 9
K& MPN/100mL <1 - <1 - <1 - - <1
BEMEFRE | E/100mL 0 - 0 - 0 - - 0

SUFrREKYSHAl {E/10L - - - - — - — -

STLST | @/ - - Z Z = - = —

pH = 7.1 - 8.2 = 8.0 = = 1.4

BE <0.5 - 0.8 - 0.8 - - <0.5

o | Wt

EE <0.1 — 0.7 — 0.2 — — <0.1

HRKFERAH

ES -

KR C

KR °Cc

K& MPN/100mL

BREMESFHE | f8/100mL

sy FrRRYTHL| {E/10L

CTNTT {&/10L

pH -

BE

R | R

AE

HKEAH

S -

[UR °c

Kig °Cc

K& MPN/100mL

REIESFRE | f8/100mL

syFrRKYTHL| {E/10L

STILDT {&/10L

pH -

B’E

i | Nt

EE

RKERA

Kix -

== o
X\/m C

KR °Cc

K& MPN/100mL

BREMESFREE | fE/100mL

gy FrrRYSHL| {E@/10L

CTLTT {&/10L

pH -

BE

R | Rt

AE




VLA EFE B ERR

LY S EEHB®R RSV T PR K YD
B E B B|E & BRKR LEHKIR FRKIR
HKERAR - - —
ESH - - — -
KR °c - — -
KR °c — — —
K& MPN/100mL - - -
REIESFRE | 18/100mL - — -
sy T rRRYSHL {E/10L - - —
STLLT f8/10L - — -
pH - - - -
BE £ - - -
EE E — — —
HKERH - — -
S - - - -
SR c - - -
Kig °c - — _
KB&E MPN/100mL - — -
REMESFRE | f8/100mL - - -
SUFTrRRY DLl {E/10L - - -
STLLT f8/10L - - -
pH - - - -
BE E - - -
A B — — —
HKEAH R6.6.17 R6.6.17 R6.6.17
Kix - i i g
KR °c 24 24 24
KR °C 18 14 16
K& MPN/100mL <1 <1 <1
REIESFRE | 18/100mL 0 0 0
9T RRAKYSHL| {E/10L - - -
CTILTT {&/10L - — -
pH - 7.2 6.8 1.2
BE & <0.5 0.5 0.7
EE |3 <0.1 <0.1 0.6
HKERB - — -
K& - - - -
KR °c - - -
KR °c - — —
K& MPN/100mL - — -
REESFRE | 18/100mL - — -
sy FrRRYSHL| {E/10L - - —
CTILTST {&/10L - — -
pH - - = -
BE B - - -
A E — — —
HKEAH - - —
Kix - - - -
KR °c - - —
Kig °c - — —
KEH MPN/100mL — — -
BEMESFRE | E/100mL - — -
syFrREKYSHLl {E/10L — - —
STNST 18/10L - - -
pH - - - -
BE E - - -
EE B — — —
HRKEAR R6.9.18 R6.9.18 R6.9.18
S - & i i
SR °c 31 31 29
KR °c 19 16 17
K& MPN/100mL < <1 N
REMESFRE | 18/100mL 0 0 0
YT rRRY TS L {E/10L - - -
CTILDT {&/10L - - —
p H - 1.5 6.9 6.9
BE B <0.5 0.5 <0.5
A E <0. 1 <0. 1 <0. 1

L

(4% &8 # =)



VLA EFE B ERR

M6 EHE EEBE RS YU T FRKYy D
#w & B B B BRKR L EFKIR FLRIKIR
BKERB - - —
Kz — — - -
KR °c — — —
KR °c — — —
KB MPN/100mL — — _
REIESFRE | E/100mL — — _
oy FrREYSon| {E/10L - - -
CSTILTCT {&/10L — — —
pH — - - -
BE E3 - - -
AE =4 — — —
BKERB — — —
K& - - - -
K[l °Cc — — -
Kig °c — — —
KiEE MPN/100mL - — —
BRRIESFRE | E/100mL - — -
SUFTrRRY DLl {E/10L - - -
STLLT | fE/10L - - -
pH - - - -
BE B - - -
EE =3 — — —
BKERB R6.12. 11 R6.12. 11 R6.12. 11
Kig — i g fE
[UR °c 6 7 6
KR °c 17 12 15
XaE MPN/100mL <1 <1 <1
BSMESFRE | E/100mL 0 0 0
syFrREY YLl {E/10L — — —
CSTILTCT {&/10L — -
pH — 1.5 6.4
BE E <0.5 0.5
AEE |4 0.1 <0. 1
BKERB
Kz -
KR °Cc
Kig °Cc
PNl MPN/100mL
BRRIESFRE | E/100mL
g T RREY YL {E/10L
CTILTT {&/10L
pH -
BE 4
EE =
BKERB
S -
[UR °c
Kig °Cc
PN L] MPN/100mL
BEIESFRE | E/100mL
syFrRKYTHL| {E/10L
CSTILCT {&/10L
pH -
BE E
AE 4
BKERB
K& —
KR °c
Kig °Cc
KiE MPN/100mL
REIESFRE | E/100mL
oy FrREY S| {E/10L
CSTILTCT {&/10L
pH -
BE |3
EE =3

L

(4% &8 # =)



